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' |Anuyk OJapuHa BitaniiBHa 3 80,07 86,07
2 |Benka IHHa AHpgpiiBHa 1 86,59| 8559
3 |lcakoBa [ap's MukonaiBHa 8193 81,93
* |OsaveHko BikTopina IBaHiBHa 81,42| 8142

YeboTapboBa BepoHika OnekcaHapiBHa

80,52

80,52
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' |Bopemuyk |Onbra CepriiBHa 2 88,43 86,43
2 |OoTT fApocnaB |lropoBuy 64,77 64,77
3 |Hixenbcbka |BikTopis OnekcaHapiBHa 60,60 60,60

ftffffCrpanura 2



C
[&]
o
=
s
X —
T I
2 = =
=3 = o
Ne T I =
2 2 3
n/n 0 = 5
= F =
1 sl °| s
cemecTp 1 Kypc 2 5
< I
=
<
[}
o
1 o e
HobpsaHcbkun Omntpo Ceprinosumy 84,15| 84,15
2 =
Kancnmos Mukuta Bonogumuposuy 81,00] 81,00
3 ‘o
Hocay Aptyp [eHHaginoBny 78.48| 7848
4 .
BapaBsiH Bnagucnas PomaHoBWY 78,15 78,15

LLnnoe Bonogummp KoCTAHTMHOBUY

60,96

60,96




